Installation Instructions

Billet Headlamps

LIG-1000

Contents of TWIN HEADLAMP Assembly

Brackets — For USD (upside-down) or RWU (right way up)

2 off Alloy BRACKET to suit Customer requirement
2 off Allen Bolts (M4x30 Skt Cap)

Knuckles Rear view of H4 Bulb
Showing wire connections

2 off Male

2 off Female

8 off M3x8 Skt Cap Dip

2 off M6x25 Skt Cap

2 off M6x16 Skt Cap

2 off M6 Washer

2 off M6 Nyloc Nut

Headlamp Assembly 2 Sets Earth Main

2 off Reflector - HLUTRCHU
2 off H4 Bulb

2 off Pilot Bulb

2 off Pilot Bulb Holder

2 off O-Ring

2 off Front Rim — Threaded
2 off Inner Ring — Notched

2 off Main Body

2 off Black Plastic Plugs

6 off Plug Spade Connectors

11, Havant Business Center, Harts Farm Way, Havant, Hampshire, PO9 1HU, UK
www.oberon-performance.co.uk Tel: +44 (0)2392 481188



